
id

A -> A 1, -> A, T2 ->Az
1R

↑, Tz +A,* Az

I, A- C already
used
mot, B- C

↑, AnB - C ↑, AnB- <

"modulo contraction"
.
->T

↑,A +B ↑-> B
C R, >R,

P ->A >B T ->As B

↑, -A ↑2, ,B -C T -A

↑, P2, AsB -> C I ->AVB

P-B

1-
T -> AVB

Examples:
· Ab (A > B) doesn't hold
· (/P > R) > R) > (PVR) x(R> R) also shouldnot

hold
· ()P-R) x(axR)) > ((P > a) > R) holds



->Ar(AC B)

(P< a) >R -> (P-R) - (G> R)

(P-R) - (G>R) ->(P> a) >R

RR LR R

->Ar(AC B)

- Re T,A +B
R
4-B

R2A ->A ↑-AsB P- AsB
-

↑-> A , P,
R3

↑->Ar(A > B)
-z
l -> AsB PI

R4
i -> Ar(A) B) P2

(R.) A -> A Pr
-

(Rs) A -> Ar (A>B)

STUCK



L R R ↳L RRR R LRR

(P< a) >R -> (P-R) - (G> R)
e e me

N N1 N2⑧

men-
Mo Mc

Ro Ri R
p ->P a+Q R ->R

↑,G+R
R3

↑ -> R
R4

↑-> P
R5

↑-QT R 1 -QR P ->PVR
- en -

N2 N2 Ni

↑-> R
R6

↑, P -R
RG, M+ Na M2-Na

R8-

↑ -> PvR ↑ -> PC & 42- Nc *N2-
me

NL -
No Mc

I,- No 42, R+WRa i -a RE.2n

↑,E,NoR -> 2 ↑ -P >0
- -

Mo No

Goal: Mo ->M,



1. P->P (R.)
2. a-o (Rz)
3. R -> R (R3)
-

4. R ->Ne (R4) 3

5. P ->NI (RS) 1
6. R -> N, (Ro) 3
7. G -> No (R7.2) 2
-

8. PpR -> Mc (R0) 54
9. R,R -> M1 (RO) 64
10. Q. Mo -> R (Rg) 7 3

11. G, Mo
-> Ne (R9) 7 4

12. &, Mo - Ni (Rg)76
-

13. Mo ->Ne (R3310

14. Mo, G -> N2Y(R4) 20 R

15. &, m. -> N,X (R6) 20 3
16. G, Mo -> M, (Ra) 7 9

17. &, Mo, P -> M1 (Rg) 7 0

10. R, Mo -> M1 (R8) 12 22

29. G, Mo,R -> M, (R8) 12 4 . Ra

28. &, Mo, P-> M, (RO) 22 5
21. Q, Mo, R -> M, (RO) 166 Ra



2. O, Mo ->M, X (RO) IS 14

23. &, Mo -> M, X >Ra) 7(19/21)

24. &, Mo- M,

UCK.



(P-R) - (G>R) >(P> a) >R

Optimization:inversions.

I decided to stop here, but
I VL is invertible.

<PUR), (G > R),(Pc a) -> R

<P-R) - (G> R),(Pc a) -> R

(P-R) - (G>R) ->(P> a) >R

->(P-R) - (G>R) >(P> a) >R

cont.I
V



↳L R ↳h R

>PUR), R),P>al- Rne -
No NI

Ro Ri
P-P &-0 R-R

R2

↑, P+ 5 F2,R-5
Rs

I, I2, PVR -> r
- ↑, - & z, R-> r
No R4

↑, P2, Q> R -2
-

1- P 4,Q-> W
is

Na

↑,z, Pa-r
-

N2

1.P ->P 4.(R1) 2 3 Q,Ne ->R

2.0 +0 5. (Rs) 22 P,Ne - a
3. R -> R

7. (RN) 5 3 P, N2, N1 -> R

8. (RS) 1 4 P, Nic Ne ->R*

9. (R3) 7 3 N, N2, No->R*


